Area, Surface Area, Volume Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.

( “ 1. The diameter of circle 4 is 7.3 units. Find the circumference of the circle.
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% 2. The radius of circle 4 is 2.2 units. Find the circumference of the circle. Y7 U q’
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522 3. Describe the relationship between the area of circle O, the area of quadrilateral ABCD, and the area of

quadrilateral RSTU.
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a. The area of (DO is greater than the area of ABCD. The area of ABCD is greater than the

area of RSTU.
The area of ABCD is greater than the area of () O. The area of () O is greater than the

area of RSTU.




c. The area of (3O is equal to the area of ABCD. RSTU has the least area.
d. The area of (DO is equal to the area of RSTU. ABCD has the greatest area.

4. A blueprint of a table is shown below. What is the area of the table to the nearest
tenth of a square foot? (Picture is not to scale.)
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5. A flower garden is planted on a piece of land in the shape of an isosceles triangle.
Determine the area of the garden to the nearest tenth of a fi?,
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a. 50.2#? C. 335 fi?

b. 12.6ft? @ 25.1 A2




6. Find the area of the triangle with vertices A(=3, 2), B(1, — 2), and C(1, 3).
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7. Find the perimeter of the triangle to the nearest whole unit. ( , -
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8. Find the perimeter of the parallelogram. (2- 1) "3 (3
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9. Find the area of the composite 2D figure below.

5in

O SH0= 50
6 in g imes
/’nru: 50 [10in x4 =126
: 1D u il ' a3 = Lo
/\u #IJ( L U(L \O’w,fq .._li(‘-\)(b (e
L) 15in
\/ﬁ'/\’,b’

10. Find the area of the 2D composite figure below.
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11. A town has an hlea of 10.4 mi |. The town’s éopulatlon is 3619£ What is the population
density of the town') Round your answer to the nearest whole number. ][bf) ’
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12. The borders of the state of Utah have approximately the lengths shown on the map.

The United States Department of the Census projects that Utah will have a population of

2,990,094 in the year 2020. Based on this information, find the population density of Utah

n 2020. Round your answer to the nearest whole number. B}E
. >

_ 299,09 ‘J:
31BSE

PPd = aren
Ap = 2,990,091

fp d

159 ,.
[ et [ l 19

ol 158 (d) = 10112 260
.35 peoplefmi? . ¢ 33 peoplefmi® w(ﬂ (ZE’)H i
b. 42 people/mi 4 o9 peoplefi -1 q7 q (ﬂ

£ ! 13. Describe the cross section. R . B

@ The cross section is a circle. c. The cross section is a plane.

The cross section is a cylinder. d. The cross section is a parallelogram.




g’ 14. Which solid of revolution is produced by rotating the shape below 360° about the given axis?

15. Find the surface area and volume of the cone.
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16. Find the surface area and volume of the cylinder. @
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17. Find the volume and surface area of the sphere.
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18. Find the volume and surface area of a rectangular prism with length 5 meters, width 3.4 meters, and height 8
meters. Round to the nearest tenth.
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19 .Find the surface area and volume of the triangular prism. 723 15
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20. What is the volume of a square pyramid if each side of the base is 18 meters and the height is 12 meters?
a. 3888m’ 1944 1’

b. 25927 ‘ .1296111
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~ 21. Find the volume and surface area of the pyramid.
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22. A lunch box consists of half of a cylinder placed on top of a rectangular prism. What the is the volume of the

lunch box? .
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23.A square prism has a cylinder fitted inside it so that the square just touches the circle, as shown. The radius of the
cylinder is 2 cm and its height is 8 cm.

Find the volume of the prism that is outside the cylinder.
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24. Find the volume of the composite figure. Round to the nearest hundredth.

a. 2826 ft C::/>113041P

b. 84.78 ft’ 197.82 ft*
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